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QUESTION 1

An implementation professional has extended an API template and anout-of-the box table. For both these modifications,
the modified XML file has been kept in the appropriate directory. To ensure these changes are effective, the
resourses.jar and entities.jar files need to be rebuild.

Which is the BEST way to accomplish this?

A. Run the deployer.sh -t entitydeployer command from the %INSTALL_DIR%/bin folder

B. Run the deployer.sh -t resourcejar and then deployer.sh -t entitydeployer commands from the % INSTALL_DIR%/bin
folder

C. Run the deployer.sh -tresourcejar command from the %INSTALL_DIR%/bin folder

D. Run the deployer.sh -t entitydeployer and then deployer.sh -t resourcejar commands from the % INSTALL_DIR%/bin
folder

Correct Answer: B

QUESTION 2

An implementation professional uses the customer_overndesproperties file to override properties in the Inventory
Management category of yfs.properties. In order for the Real- Time Availability Monitor (RTAM) to correctly handle all
the unassigned demands (e.g. backorder), which two property values must be set to T? (Select two.)

A. yfs.nodecapacity.lock

B. yfs. balanceShortageAcrossNodes

C. yfs.hotsku.useHotSKUFeature

D. yfs.inventory.sortandlock

E. E.yfs.considerUnassignedDemands

Correct Answer: BE

QUESTION 3

An implementation professional installs IBM Sterling Order Management in Upgrademode.
Which attribute needs to be reset in the sandbox.cfg properties file?

A. REINIT_DB=false LOAD_FACTORY_SETUP=false NO DBVERIFY=false

B. REINIT_DB=false LOAD_FACTORY_SETUP=false NO DBVERIFY=true

C. REINIT_DB=true LOAD_FACTORY_SETUP=true NO_DBVERIFY=true

D. REINIT_DB-true LOAD_FACTORY_SETUP=false NO_DBVERIFY=true
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Correct Answer: C

QUESTION 4
TheReal-Time Availability Monitor (RTAM) transaction is under which process type?
A. Applications Manager > Applications > Process Modeling > Inventory Management

B. Applications Manager > Applications > Application Platform > Process Modeling >Order Tab > Order Fulfillment
process type

C. Applications Manager > Applications > Application Platform > Process Modeling > General Tab > General process
type

D. Applications Manager > Applications > Process Modeling > Global Inventory Visibility

Correct Answer: C

QUESTION 5

An implementation professional creates anorder with header-level shipment charges- The order is to be shipped in two
shipments. How are the shipment charges invoiced?

A. Header-level shipment charges are invoiced in the last invoice

B. Header-level shipment charges are invoiced in the firstinvoice.

C. Header-level shipment charges are invoiced in the first and second invoice
D. Header-level shipment charges are not invoiced

Correct Answer: A

QUESTION 6

In an IBM Sterling Order Management V9.4 solution, the client requires the user activity audit data to be saved for 2
months before purging it. The implementation professional recognizes that retention days needs to be set to 60 days.

Where should this be configured?

A. In the Retention Days property defined in the customer_overrides_properties file

B. In the system purge rule defined in the yfs. sandbox property file

C. In Applications Manager > System Administration > Audit > Purge Configuration

D. In Applications Manager > System Administration > Purge Criteria > Purge Criteria Rule

Correct Answer: D

C1000-133 Practice Test | C1000-133 Exam Questions | C1000-133 Braindumps 3/5


https://www.pass4itsure.com/c1000-133.html
https://www.pass4itsure.com/c1000-133.html
https://www.pass4itsure.com/c1000-133.html

. VCE & PDF https://www.pass4itsure.com/c1000-133.html
E 2024 Latest passditsure C1000-133 PDF and VCE dumps Download

PassditSure.com

QUESTION 7

An implementation professional needs to assign Roles to the Participants based on the following table:

- . T T T T T T T e w— T ———

Participant Role

ALBusiness Group 1. Template
B.Company 2_Emterprise
C.legal Entity 3 Eoterprise
D Purchasing Organization 4. Node
E.Selling Organization S5.5eler
F.Plant/Warehouse 6. Buyer
G.Store/ Group of Stores 7. Hub

Which is the correct way tomap the Roles to the Participants?
A. A2;B7;C3;D6;E5;F1,G4
B. A7;B5;C3;D6;E2;F1,G4
C. A7;B2;C3;D6;E5;F4,G1
D. A6;B3;C7;D2;E5;F4;G1

Correct Answer: C

QUESTION 8

In the out-of-the-box order fulfillment pipeline, what does the "Consolidate to shipment" transaction do?
A. Either consolidates to existing shipment or creates a new shipment

B. Always creates a new shipment for a Given Order release

C. Shipment will not be created if the given order release cannot be included in an existing shipment
D. Always finds an existing shipment into which the Release can be included

Correct Answer: B

QUESTION 9

An Item Administrator configures a pre-configured bundleitem with the Parent Item \WAAA\' and child items \W'BBB\\' and
\W'CCC\\'.The Pricing Administrator in IBM Sterling Business Center setsthe price of WVAAAW' as $10, \'BBB\\' as $5 and
\WCCC\\' as $2. The CSRadds this pre- configured bundle item to the order and selects both the child items. What is the
price of the order in thisscenario?

A. $10

B. $17
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C. %7
D. $5

Correct Answer: A

QUESTION 10

An implementation professional needs to define shipping conditions such as "Do not mix items from different order
number in a shipment”. How can this be set in IBM Sterling Order Management?

A. Under Logistics Management, go to Cross Application > Logistics Rules
B. Under Application Platform, go to System Administration > Logistics Rules

C. Under Application Platform, go to Participant Setup (for Seller Enterprise) > Roles and participation > Seller
attributes

D. Under Logistics Management, go to Logistics > Shipment Planning

Correct Answer: D
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